
    

Name: 4-Digit by 1-Digit with Remainders

Example

3,4567
7 ×  400 - 2,800

656
7 ×  90

7 ×  3

- 630

5 493

493 r 5

Solve using partial quotients.

Add up the 
multipliers of the 
divisor to find 
the answer.

Find an easy multiple of the divisor 
and subtract from the dividend. 
Repeat until the number is less than 
the divisor or you reach zero.

multipliers

remainder

dividend

divisor

4 8 9 2 6 8

a.

c. d.

b.

e.
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8,7659

9,1534 7,1615

6,2483

8,9992
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Partial Quotients Division
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8,7659

9,1534 7,1615

6,2483

8,9992
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3 × 2,000-6,000

2,082r 2

3 × 80-240

2

248

3 × 2-6
8

ANSWER KEY

Work will vary.

5 × 1,000-5,000

1,432 r1

5 × 400

1,432

-2,000

1

2,161

5 × 30-150
161

5 × 2-10
11

9 × 900-8,100

973r8

9 × 70

9 × 3

973

-6 30
66 5

8
-27
35

2,082

4 × 2,000-8,000

2,288 r1

4 × 200

4 × 80

4 × 8

2,288

- 800
1,153

-320
353

-32
33

1

2 × 4,000-8,000

4,4 99r1

2 × 400

2 × 90

2 × 9

4,499

-800

1

999

-180
199

-18
19


